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Passage 1

Every living thing needs water to live. People require clean and fresh water
for drinking, washing, and having fun. Water is almost found everywhere. It is i
the ground we walk on and in the air. Water moves from land to sky and back
again. This is known as “water cycle”. Do you know where a glass of water
comes from? The sun heats the water in rivers, lakes, and seas. Soon the warm
water converts into a gas. That transformation is called evaporation. The gas
rises and forms clouds in the sky. The gas in clouds becomes cold. Soon the cool
gas turns back into water. That change is called condensation. Water falls from
the clouds to Earth as raindrops or snowflakes. That process is called
precipitation. Rain goes into the ground. The water goes back into the rivers,
lakes, and seas. That process is called collection. Soon the water cycle starts
again.

14- Why do we say “water cycle”?
1) Because it is like a circle.

2) Because it only happens one time.




3) Because it happens over and over again.

4) Because it can happen in any order.




